BOOK 3. PAGES 45 TO 47

BOOK 3. PAGES 49 TO 53

Page 45 (continued) Page 49
c.1) w= | 5) B=3 9) D=6 12) U=13 a.a=2 L) o = | 7) g< 8 10) k< 6
2) z=9 6) t=k 10) R=1 ) F£ =3 2) b=5 5)e=—4% 8) h=-1
3)c==2 7)) m=7 1) T=2 15) v =1L 3)c=3 6)§=0 9) j =31
a.1) P=2 5) L=3 9) K=2 13) A=-§ 2)n>3 5)r= 2 8 u<2
2) x=1] 6) y=—2 10) czYy w)yd=2% 3) p<i| 6) s >%; N v —h
3) NV 7)E=—f  a)y==Y%  15) h= o 1) 2 2) =10 3§ L) 3 5) 3
L) w=9 8 b=25 12) T=8
_ — — da.1) 3 2) 5 3) -4 4yl 5) 8
Page 47
, Page 51
a.1) x<3 5) J< |2 9IIn< 54 13) R>20 a.)a =12 4) R=2 o) T=2 10)H=7
2) w> | 6) m>17 100 u>S5 ) k<84 2) d=6 5) p=12 8y Uu=—3
3) >y 7)) s<21 MMF>IA 15 p <9 3)y=20 6) x=1 9 m=13
4) Z<6 8) G<—4% 12)9<—3 b.1) f =9 4)q,=3 7)) =4 10) L=Wh
S <! 2) k‘:Q_./z. 5) m= 22 8) J(.""’H—;{f
b.1) A< | 5)3<~-3 9v=>16 13) b< 4 3) N= 4 6) W= 24 NA=9
2) ¢>7 6 k>—1 10)p2—6 1) t>3
L) Q*<|+ 8) H<l/3 12)W$2'/:_ E)tsé 5)?(;'1' 8)C$—"
3) Q>5 6) e > 9) h<—-5
c.1) b L) § 7) | 10) | 13) 9
2) 5) | 8) 8 11) 3 14) o Dage 53
) 2 6) 3 9) 5 12) T4 15) -6 a.1) &y pence 7) (130 +t) cemtimetres
a.1) § 4)-5 7) 7 10) 1 13) —3 2) £107 8) (y+1,(y+2), (y+3)
2) 8 5) 2 8) 1 11) W 14)—3 3) Z4 pence 9) M, Bri h tor
3) 13 ) 5 9) 8 12) N 15)=2 2 P M Briggs Vi hectares
L) (eV4+12) pemnce Mr Craggs 3h hectares
5) I13n pemce

6) (3(+|+)jeour$ 10) ('O"M> years

56 5



BOOK 3. PAGES 53 TO 57

Page 53 (continued)

BOOK 3. PAGES 59 TO 61

b.1) ko (k=1) (k=2)  7) 2n+7
2) £(2G+5) 8) By +120
3) 34 + 9) dth) conkers
4) (R=900) metres ( 2
5) ¢ —27 10) 4
6) (29 +6) miles
Page 55
a.1) V=LWH 6) s = Sn+10
2) (29-M) miles 7) L= SOGr/”
3) P=5n+ gx 8) V= 25000— 2004
b)) E=s-v-c 9) C =75 +50m
5)(1) a = ®Yp 10) A= 34 +5
(ii) A = 3bh
Page 57
a.’l) 2@-5; o=20 9) “‘i’ yuns
2) 9 10) 1y pence
3) 3z-13 ; z=10 1) 6
L) 9 years 12) 28
5) 14,15, 16 and (7 13) 26,18 and IS
6) 2q,—12 1) Lk

He sold 33 red ones 15) Six years ago Paul was
(p—6) years old and his

fFather was (3p—6)
Years old.

7) 21 miles

8) x=8
The camera cost £1§

58

Paul is 12 years old now.

Page 59
a.1) C=25 5) J=0 9) I =8S0
2) v=343 6) E=3175 10) A =658
3) t=13 7) k.= 600
4) 8= uus5 8) S= 60
b.1) v=1385 6) a= (-5 1) k= 1900
2) P‘=‘+2.'/1, 7) W= 13 2) n=—|
3) F=-40 8) C=94-2 13) V= bl60
L)y Z="% 9) F=13 ) P =24
5) q,= 15 10) a= 51 15) h =13
Page 61
a. 1) n=p+2 9)n=-—:’—";'5
2) n = 3——9 10) n= 21_3E
3) h = 25 =a 7
L) h-':W—-!( 11) n= 2c+2Y4%
— . U+v?
5) h= 5x 12) 25
6) n=RAp 13) h< M=%
7) n= #—"?:‘9 ) n= 8D/,
8) n=gq-t 15) ne A
- A+8 - A+7
b.1) C = s 6) 3
2) C= 8A-38B 7) C= B—2A+33
3) C= 68— SA 8) C= %%
_ 35A +8 - 100 —ABR
L)y C-= = — 9) C v
5) C= B—A 10) C-= 8/A2
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